L{a

2017~194 CBR250RR/\YHZ ATy Assy ¥45,200(F31)
IN—Y1) X and A E (FAX:0280-57-4899)

®

972

[

I-FACTORY

factory.ne.jp

R

SHNo IN—=YH 3 P3| filis (BRI E) | AR A B BHNo N=Y% g i BialE) | BEA SR
1|LBIRTYTTL— ¥4,000 20[REIRTYTTL— 1 ¥4,000
2(FToORA)L ¥8,500 21|[RRIL—FRF)Y 1 ¥8,500
3[RTFT YT IN— ¥2,600 22| ATV T 18— 1 ¥2,600
4lE—ILA—F (L) ¥1,500 23|[RRYRA—RT—| 1 ¥1,500
5|7 —Ltybk ¥5,300 24|RABZ—BUDATF 1 ¥1,200

5-1|2 b7 —Ls ¥4,000 25|E@/R—)L (M8) 1 ¥1,300
5-2|E0R—/L () ¥1,300 26(7RJL+ M8 x 50 1 ¥150
5-3|7RJLk M6 X 22 ¥150 27|7RJLk M8 x 35 1 ¥150
5-4(Av+ vk (M6) ¥150 28|H5—(T 7.3mm) | 1 ¥750
6loas aa0 “Rvk ¥2,500 29|@wHFuk(M8) | 1 ¥150
7(F vk (M6 &) ¥100 30| 7wy —(M8) 1 ¥50
8|7k (M6 IE) ¥100 31|7RJLk M8 x 30 2 ¥150
9EmAR—IL(IE) ¥1,300 32|7RJLk M6 % 10 2 ¥150
10|7RJLk M6 x 30 ¥150 33|7RJLk M6 x 20 2 ¥150
11|7RJLk M8 X 50 ¥150 34|{7RJLk M6 x 15 1 ¥150
12[7RJL+ M8 x 20 ¥150 35|REIRR—4— 1 ¥1,200
13|7R)Lk M6 x 10 ¥150 2021/4/7
14[7vv— M8 ¥50 EEFEOHDAIETTRICTEHEATEL
15| 7w v — M6 ¥50 A {t FEBREICOZEMIF TSN
16|3voF vk M6 ¥150 AM - 14-168% - 16-18FF
P-01 |[KT-P A%ty ¥750 / 18-208%F - 19-218% %L
B7 1 77OF)— FAX:0280-57-4899
_ BRIFES
SR | T
HEHI HERE

A—J)L7RLR




